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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory

La

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence _

5. Question numbers 4 to 6 in Sections-A are two marks questioﬁs. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each. ‘

- 8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

HET-3 / SECTION-A

1 STt ufredl =t erafeyfa 3t werd fafad |

State the location and function of gastric glands.

2 ﬁaﬁaﬁﬁﬁmmm|

Mention the commercial unit of electric energy.

3 FEE G4 & 39 W1 I AN GGy Wal sHieie S Squredia 9§ StaiEa g 8

Name the part of a biogas plant where reactions take place in the absence of oxygen.

4 v e aEe Hd & v § gen e 23 ¥ 6 o darw v # 2 v 9 areh s
Hqfera TamEfe gHiEw fafaw )

State what is observed when silver chloride is expoéecl to sunlight. Write the balanced
chemical equation for this reaction.

5 foem w1 waraft W ok g3 fafew) =0 @@ ¥ 5= fwm #1373 K ) ™ fEm emr #
sifufsran = TEmEt THiw fafau | |

Write the chemical name and formula of gypsum. What happens when gypsum is heated at
373 K. Write chemical equation for the reaction.

6 U il =19 BRI S Al & wH #) SmfEd HIT S S e # 4 YW W w0 W
Bt B
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Trace the sequences of events through a reflex arc which occur when a bright light is focused
on your eyes.

TP TGN Wied et F fasen wfa- 3
()  af e s

(i)  Heamo A= ferga vifean

(i) ~ SETEEEAA AU T

Differentiate between the following with suitable examples :

(i) mineral and ore

(i)  corrosion and rancidity

((ii)  malleability and ductility

=t ol B el arfufranedl & fod ot afie fafed; 3
()  FiiferEm & W Ay o ser s )

(i) % "9 H Wifeqw g M v ot 2

(i) T TGEFER W AT yarfed w5 S R

Write the chemical equations for the feactions taking place when :

(i)  magnesium ribbon is burnt in presence of air.

(i)  sodium metal catches fire in contact with water.

(i)  Steam is passed over hot aluminium.

I & Sieitd faera 3 | faga ur yarfea +0 | @ A9 vt ved v e £ sew 3
waﬂ%ﬁﬁmtﬂvﬁﬂﬁfﬁaﬁl

Which three chemical substance are obtained when ele=*icity is passed through an aqueous
solution of brine ? Write one industrial use of each :
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10 PR A aE § S wEOT % oER TaEtE SR wE ¥ p0 420 - 3
Q,0,+2P | 9

3RS0, +2Q 5 Q, (S0,),+3R

3R0O+2P — PO, +3R

vl wfed fr gl & S s -

(a) PH-W T Tty stfufmarsie 22
(b)  HH-TI T g9 FH fufmania £
(c) 3ol tfufsraned =1y fafad

P, Q and Rlare three elements which undergo chemical reactions according to the following equations
.

Fe AV Zn
P,0,+2Q - Q,0,+2P
3RS0, +2Q — Q,(S0,), +3R
3R0+2P - PO, +3R

Answer the following questions with reasons :
(a) Which element is the most reactive ?
(b) Which element is the least reactive ?

(c) State the type of reaction listed above.
11 = & o smevas emi &1 Tm fafew) @ @ s9 e\ afe w1 A fafee e e 3
SHERT: WAV RN

()  BR A oIS w1 FE e

(i) W R E 0B @
(i)  FTETeEZe, MEM iR aw w1 S

Name the hormone required for the following. Also mention the name of endocrine gland
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from which that hormone is secreted :

(i) Lowering of blood glucose.

(i)  Development of moustache and beard in human males.

(iif) ~ Metabolism of carbohydrates, fats and proteins.

e

Yl | SR Srgsil ® yau & i e fafau

Write three poirits of difference between respiration in plants and respiration in animals.

Ul H Arediegsi % He & o9 SR fafau

Explain giving any three reasons the significance of transpiration in plants.

WA S & AR F Werd ¥ 7 Wi & Y 0 frawan @ avi i i e
T & | ferd ol GIaet e W e aa g &9 el § ghg R W 9g S §

With the help of a diagram of experimental set up describe an activity to show that the force
acting on a current carrying conductor placed in a magnetic field increases with increase in
field strength.

ferelt AT 3 AR T STIIEY HIE T AT 4% 10~6 m2 YT TRRGEF 1.6 x 10-8 309 wex &1 30
Sié C I amrél o HifsT forgent ey
10Q B AT 3T IR 1 AW & T R &7 S, @ 79 iy ¥ fran wiads & smem 2

A copper wire has cross - sectional area 4 x 10~¢ m? and resistivity of 1.6 x 10~8 ohm metre,

Calculate the length of the wire to make its resistance 10 ohms. How much does the resistance
change if the diameter is doubled ?
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gfeRIgRar 50 x 108 37 Hex T

Calculate the resistance of 5 m length of a wire of area of cross - section

0.01 mm? and resistivity 50 X 10~8 ohm metre.

17 T A SO W W W H B9 W R el ave @iid R F A Fe | SEe W Y 369 suE) 3
SVl & R YOS F11 W A AU T H) o F e oK o R v W Ok s
A9 TS FIAH Tl B T8 |

()  HR S a9 T S A F 9RER w1 ad SrEEe #1 8 are @ an fefen
(i)  HNF TH HHE Y SHF FHAY 0 GEhid o §2
(i)  HR S b B ST HA K1 TF G91 FF HIC

Megha asked her mother to install a solar water heater on the roof top. Her mother asked
about the need of such installation. Megha convinced her mother and succeeded in setting up
- asolar water heater on her roof top.

(i) State one advantage of installing the solar water heater to Megha’s family and to the
society. :

(i) ~ What qualities of Megha are reflected in her action ?

(iii)  State one limitation in using solar water heater.

18 GRS E H0-3iR Sawn i ¥ <o & Seo Sl e w F fasew Fifw) 3
Differentiate between energy obtained by burning fossil fuels and that obtained as solar
energy.

19 = % wro A >

() = uiqe 99 Efew o ¥ sifufran et € g i wEeeT ot TE B
(i) ©feaw ergiFRe faaga & Tfaftay % yrEi 4 768 @ s g |

..(iii) uIg =ial ST | sHaion ¥ aifufran 76wt dfed g w9 91 F e W e
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(iv) Wifeam F 3u% Tfad FeREe & faea soeed g W R i € W fr saE s
faera grn '

(v) Qﬁﬁmaﬁnﬁma@aﬁﬁmm%mﬁﬁmmﬁl

Give reasons for the following :

(i) Generally no hydrogen gas is evolved when metals react with dilute nitric acid.
(i)  Sodium hydroxide solution cannot be kept in aluminium containers.

(i)  Silver metal does not combine easily with oxygen but silver jewellery tarnishes after
sometime. % '

(iv)  Sodium is obtained by the electrolysis of its molten chloride and not from its aqueous
solution.

(v)  Aluminium reacts with dilute hydrochloric acid slowly in the beginning.

=1 & Fror §ifs - | . 5
() U SIelta e i wRgI STaE Wige 9o SH pH § e = T |

(b) ot Siefta foerem =1 pH TR 7.0 81 7% faer arcii &, amata & svea sa |

(©) mamp;mﬁaxﬁm%,lMHcm_uMNaorlﬁamm? ,

(d) e TR YRR & Fora el § A uF 21 frewal g e @i @ w9 o feg

- YRR B S 8?7 30 Ak F ol o e =
() S [H+] o Y wER U e §2

Account for the following :

(a) State the relation between hydrogen ion concentration of an aqueous solution and its
pH.

(b)  Anaqueous solution has a pH value of 7.0. Is this solution acidic, basic or neutral ?
(c) Which has a higher pH value, | MHCI or IMNaOH solution ?

(d)  Tooth enamel is one of the hardest substances in our body. How does it undergo
damage due to eating chocolates and sweets ? What should we do to prevent it ?
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(e) How do [H*] ions exist in water ?

() w7 3R URy ¥ =% of fafay sl gfe SRAA 1 Wy g €|

(b) T UIKY H THEHE FHE F gfad HA W 396 fohfad 20 We & ged § a9 ach
T3l 1 UEl WA fafaw ) e 3R wfd & waRr 1 9w fafen)

(@)  Name one organ each where growth hormone is synthesised in man and plant.

(b)  List the sequence of events that occur when a plant is exposed to unidirectional light,
leading to bending of a growing shoot. Also name the hormone and the type of movement.

(@) fordt @9 urEmE e & free fed fag W g 849 $1 yaaq 39 9es 9 yarfed
forega w1 waera 9 frg yeR gefud 2t €2

(b) HANE H A ¥ TF foramrey 1 avie witae S99 a8 < s w9 fE e |9
YRIETE! T & 9RI IR Tk TG & 391 8 Sl 21 39 YHR IO gEhid 9F & fawm
fraffa 0 & fau fram fafaw)

(© T & T g 1 w9 off wiosstaa 6 T st 2 e witw)

(@  How is the strength of the magnetic field at a point near a straight conductor related to
the strength of the electric current flowing in the conductor ?

(b) With the help of a diagram describe an activity to show that a straight conductor
carrying current produces a magnetic field around it. State the rule which may be used to
determine the direction of magnetic field thus produced.

(c) Why do two magnetic field lines never intersect each other ? Explain.

@) et oT gEw ) gEwE & Wi gifae) 9 geEE 8 W TE-gE w5 w
yiges &l et | T =i w2

(b) 1.5 kW I i faga wgt ferelt wiey aftay (220 V) o, e faga sgadi® 5 A &, s
ST ¥ 1 319 3H TR H ToRE qftom =5 s1day wd € ? SAre St |

(@  Draw magnetic field lines of a bar magnet. “Two magnetic field lines never intersect
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each other”. Why ?

(b) An electric oven of 1.5 kW is operated in a domestic circuit (220 V) that has a current

- rating of 5 A. What result do ydu expect in this case ? Explain.

gt 60 § AT d1 Sfouehi & qod wfadw & fore Sey wenfig i 5

e § gaEifor dF wfwie, foes wiig 12 0, 6 0 34 0 ¥ F wdeE 1 qe vy i
Hifa |

Establish a relation for the equivalent resistance of three resistors connected in series.

Calculate the equivalent resistance of the combination of three resistors of 12 €, 6 ) and 4 Q
joined in parallel.

YIT-&/ SECTION - B

T B H1 IR faeE T 1, 10, 100 3R 1V 3 T iR Sed et enefta steen e Wt e 1
pH WX GRI XA 1 e 71| WA Faqor oA fF pH A o 1 semen: o, e, g sl A @

T S 3R 3 el ¥ g T 3 e ¥ SR W Freen T v e g -

(@ LI, I 37<ia § | (b) 13RIV =i
€  IL IRV &ma &) d) IRV e €

Four solutions I>II, IIl and IV were given to a student to test their acidic or basic nature using
pH paper. He observed that the colour of pH paper turned to Red, Blue, Green and Orange
respectively when dipped in these four solutions. The correct conclusion of this observation
would be : ¥

(a) I, II, Il are acidic (b) I .and IV are acidic

(c) 11, Il and IV are basic L) I and IV are basic

=1 9 § 3=9aq pH 9H S e ag & - 1
(@) wifed wEme faega (b) = _ v

(c) AgH™ - (d) @ aifean Tgiwmse faemm

Out of the following, the highest pH value is associated with :
(@) sodium earbonate solution  (b) water
() lemon juice Ly dilute sodium hydroxide solution
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27 Y G I TH FT W WG S IRl THEE G 1

(@) FeO (b)  Fex03

(c) FexSO4)s (d) FeCOs

The formula of solid product formed on heating of ferrous sulphate is :
(@)  FeO “by  FeO;

() FexSO4)3 (d)  FeCOs

28 fownd R & e ot iR 3% Yqfufrm gethe ¥ faerd 8 wen | 3o 9ng ¥ ae se | s 1

(@) faera mi @ )

(b) TR I el W HAS HIg H A B T

() e faeaa o B 1 ° yfafdq &

(d) forerm TR € T S N ) Fe WA S T g

Disha took two iron nails and put them in aluminium sulphate solution. After sometimes she
observed that :
(a) the solution becomes warm
(b)  grey-metal is deposited on the iron nail
() the colourless solution changes to light green
L)y~ solution remains colourless and no deposition is observed on the iron nail.

29 Wuﬁz%ﬁwﬁmﬁmmmﬁwﬁﬁﬁwﬁwﬁaﬁ: 1
G  f5iF w Fen o fewe @ R
(i) | rer faeaa TEA & S
(i) ﬁ‘mmmwé\nﬁ@ﬁw%l
(iv) Wﬁmﬁﬁw‘u‘nwam%l
(@ ()G (b () 3 i)
() (ii) 3T (i) d ()M (v)

When zinc granules are added to the copper sulphate solution, which of the observations will
not be made ?

Zh—?%e.yﬁ =N %o, = Cun
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(i) ' A blackish deposit is seen on zinc.

(ii) Blue solution becomes colourless.

(iii) Reddish brown deposit is seen on zinc.

(iv)  Colourless solution changes to pale green.

(@ (i) and (i) é) (i) and (iii) $O
stFo (i) and (iii) )= and (iv)

30 S sl 1w 11 H gwiie e aftwell  seerier #1 argaie @
3V 3V

Hg ) O LW
: ®

30 50
/ VAV AV

S m
(a) 99w [ & 3V qen witqy 18 2V |
(b) B 9w H oV |
(c) =1 afwei 7 3V |
(d) wftaer [ § 2V qen uftay I1 & 3V
For the cu'cults shown in ﬁgures I and II, the voltmeter readmg would be:

‘—“——«()—— Fl__(

®
30
ANANN—T- AAANA
+®-—., +/‘}\__
@ (I

(a) 3Vin circuit I and 2V in circuit II

(b) OV in both the circuits '
‘{e) 3V in both the circuits

(d) 3V in circuit I and 2V in circuit I
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31 A A A wR & R S w1 e Wi S R g aftee & erEr e w0 o g 1
%Wﬁmﬁﬁ%mﬁm%ﬁﬂmﬁwww%

+—-—

\—

A
(a) mﬂrr F T Al H AR F

(b)  wfaEi % o7 F |

() 2 A v ura & rqem

(d) 3 wfe & o )

A student while performing the experiment to measure circuit given below.
equivalent resistance of a combination of resistance as per circuit, given below, notes

that the potential difference across the ends of both resitance joined in parallel is
“equal to:

+ |'| =
“Aa)~ voltage of battery used

(b)  ratio of resistance

(c)  ratio of current flow in each

(d)  product of resistance

32 A H o 0 w2 W w1 O o & F9 9 H) we e # Ry @ o ag w1
T &y H 6 = g @ @R iR =l % fore gher fean ) gw Saror fear

(a) @ 3R fomn ok W 21 & A FE @ My
(b) ﬁﬁtmﬁmaﬁﬁﬁé—vﬁﬁnﬁu
(c) aet fom ga wmT Frar-ren &

d) meﬁwmz‘lwn
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- A portion of destarched leaf of a potted plant was covered with a black strip of paper. The
plant was exposed to sunlight for six hours and then tested for starch. It was observed

that :

(@)

(b)
1)~

ol

Both covered and uncovered parts turned blue black
Both covered and uncovered parts turned yellowish brown
Only the uncovered part turned blue black

Only the covered part turned blue black

33 vaEd % SRF CO, Sfsta At & <uf & wan &, KOH faera -

(a)
(b)
(c)
(d)

In the experiment to show that CO, is released during respiration the KOH solution :

()

(b)

(c)
Ud)y—

34 difeqy gehe 3k gy FerEe & St faeas wau: <) ywaAfadl A 3IRB § W1 e <A 2
faeraAl & @ fafae | afs &9 31 9N faeraal = wewr faerg @ & 8, Sea Fifee | i W

T O, T T F o 21
AT &I N, 19 sraeifid &2 o &
TR | O, 6 i Sewisld F |
AR i CO, 1 ST & o 21

absorbs O, gas present in the flask
absorbs N, gas present in the flask
releases O, gas into the flask .

absorbs CO, gas present in the flask

-

1 FHRY Gfed gie wifsw |
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. B
Aqueous solution of sodium sulphate and barium chloride are filled in two test tubes A and B

respectively. State the colour of two solutions. What is likely to happen if these solutions are
mixed together. Jusﬁfy your answer.

A |B

35 wﬁeﬁﬁam&qﬁWMOmAaﬂIswmA%ﬁﬁﬁ:aﬁazomnﬁ maamrrmtrﬁﬁaa 2
Hifr |

Find the least count of a mﬂlalnmeter in which there are 20 divisions between 400 mA and 500
mA marks.

36 Wﬁmﬁiﬁaﬁmmﬁﬂﬁmﬁ%lwﬁmﬁmﬁ%? 2

State where are stomata ideally located. Are they cellular structures ?

-0000000-
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